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06 07 08 09 10

&S ¥ F 4 WIFQ WIFQ WIFQ WIFQ WIFQ & NEA. &
1 %k FHE gokkok kokdkok kkdkok skkskk skkskk 20 1 P
2 E I skkok kkksk kkkok skkskk kkkk 20 1 P
3 dvE fokkk dokkk kkkk kkkk kkkk 20 1 P
4 AR KRR skkok kkksk kkdkok skkskk kkkk 20 1 P
5 N W *kkk ckkskk kkkk kkkk ckkkk 20 1 P
6  REEZ KIS Rokokk ckdkokok kokdkok kokokk ckkskk 20 1 P
7 FES B *kkk ckkokk kkkk kkkk ckkkk 20 1 P
8 VAW FHink skkok kkksk skkkok skkskk kkskk 20 1 P
9 A IR sk kkkk kkkk kkkk kkkk  2() 1 P
10 JRA F9R *kkk ckkokk kkkk kkkk ckkkk 20 1 P
11 Y TRU Rl kkkk kkkk skkkk kkkk kkkk 20 1 P
12 &G 1 sokkok ckkoksk skkskk kokkok kkkk 20 1 P
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&S ¥ F 4 WIFQ WIFQ WIFQ WIFQ WIFQ & NEA. &
1 %k HE 12
2 E HE kk kok 4 8
3 JbE *kkk ¥ kK *kkk Kk 13 6 P
VN N kkckk  kkk kdkskk kkkk kkkk 190 ] p
5 ®HW * * * * 4 8
6 b KA ook * 4 8
T PES B *  x % 3 11
8 VEH Hipk k%% k kk kkk  kkkk  kkk |6 3 P
9 A R % % dkkk Kk kkkk kkkk 16 3 p
10 J1 fBA9R * % kkk *% 8 7
11 Y TRU Rl %kk% % % skkkk kkkk kkk%k |8 2 P
12 & U ®k kkkk k% ok kkokk kx5 5 P

T =a%=13 2/6

-



ks e A DER
= % FRRSREAR—Y o Z—
il 15| [(B] A% 2 % — RERY
H F 2023/08/06
[No. | ®F K4 | 06| 07 ] 08 | 09 | 10 | JEfL |
& H Waltz
3 b E 2 2 6 4 5 4.0
4 /IR IRE 1 4 1 2 1 1.0
8 EH Bk 3 6 5 5 6 6.0
9 G4 D K 5 3 3 6 3 3.0
11 | & = RKU—FKW#i| 4 1 2 1 2 2.0
12 | =ifs 6 5 4 3 4 5.0
& H Tango
3 s E 3 2 6 6 6 6.0
4 IR T IRE 1 3 1 2 1 1.0
8 EH Bk 5 5 5 5 5 5.0
9 SR IR 4 4 2 4 3 3.0
11 | Hk = RFU— R 2 1 3 1 2 2.0
12 | &G W 6 6 4 3 4 4.0
& H Fox Trot
3 s E 3 2 6 6 5 5.0
4 IR P IRE 1 3 1 2 1 1.0
8 EH Bk 6 5 5 5 6 6.0
9 SR IR 4 4 2 3 4 3.0
11 | Wk = RFU— Rl 2 1 3 1 2 2.0
12 | &@fs 5 6 4 4 3 4.0
ffi H Quick Step
3 bk 4 2 6 6 6 6.0
4 R IRE 1 3 1 2 1 1.0
8 EH Bk 3 6 5 5 5 5.0
9 P43 =X 6 4 2 4 4 3.0
11 | Hk = RFU— R 2 1 3 1 2 2.0
12 | &@fs 5 5 4 3 3 4.0
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No. P S A V2 W T F Q A RS
3 b E 4 6 5 6 |21.0] 5.0
4 IR P IRE 1 1 1 1 4.0 | 1.0
8 HEH Bk 6 5 6 5 1220/ 6.0
9 ZAN D N K 3 3 3 3 ]12.0] 3.0
11| Hk = FU— Rl 2 2 2 2 8.0 | 2.0
12 | =it 8 5 4 4 4 |17.01] 4.0
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HEE T K4 IN—hf— 4 B | W T | F|Q
1 %k HE A DE HETR W5
2 | WE B®E PR 7% 1L HETR W5
3 bR TN AR W57 | 4.0]6.0 5.0/ 6.0
4 IR PR NP B 1.0 1.0] 1.0 1.0
5 | PN BFER e VoA HETR W5
6 | REEZ KT i H< HETR W5
7 BR[R B FH HH ST HETR W5
8 EH Bk FHE & %67 1 6.0]5.0/6.0]5.0
9 AR K- M B4 %37 1 3.0/3.0/3.0]3.0
10 | J&0 1G98 N S HETR s
11 ik =RU—R# | R mUPRZOKEL FE2fr | 2.0]2.0] 2.0 2.0
12 i 1 e HFR AN | 5.0 4.0 4.0 4.0
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